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101. Match List I and List II :

(a)
(b)
(c)
(d)

@)
'
©)
(D)

List I
Planets

‘Mars
Jupiter
Saturn

Uranus

= A W N
W N = W

List IT

Number of natural satellites

1. 60 satellites
2. 27T satellites
3. 63 satellites
4. 2 satellites
(d)

4

£

3

2

ulgwe Ieow ulgwe IT 2 L 6r Qurpsgs :

- (a)
(b)
(©)
(d)

@)
®)
©
D)

quM@I
£lysb
Q&eusumil
eflwimpen
gal

wCresen

@ b ©

2
3
4
1

W b = W

1
4
1
4

WA II_

Quneass giemens GCamerser

i 60 giemenmsCamerser
2. 27 gmanr&Gamerser
3. 63 giamemsCameanser
4. 2 giowansGamerser
(d)
4
2
3
2
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102. The compound used in breath analysis test for drunken driving is

\d chrzb*r

B) KI
(C) KMnO,
(D) CuSO,

108 SHHS eurseId U (Heums sam(Bigs@h saursl uELumie Cergemeanie LweLIHD
Gaimotd

A) K,Cr0,

(B) KI
(C) KMnO,
(D) CuSO,

103. Which Metro Rail Corporation has started the initiative to become the World’s first
100% solar-powered metro?

(A) Jaipur Metro Rail Corporation Ltd.

_(B) Gujarat Metro Rail Corporation Ltd.
\Lﬂf Delhi Metro Rail Corporation Ltd.

(D) Chennai Metro Rail Corporation Ltd.

100% @Aw ppee LLETLESS, e wdda s Qul Crmars o mans Wwwuhd Qe
@nuilev Flmeued erg)?

(A) QT Qul Crr @yl Hmeuend
. B)  Exms Qul Cyr @rulle Hipeuetd

(C) Qe Qo Grr @rule Hlmieuenid

D) Gserenar Qul Cym @yuile Hlmeuend

CCS4T/19 28 e



104. As per G-20 surveillance note, India's economy-is to grow at

2020.

@A)

N

6.5% B) 5.5%

7.5% _ (D) 8.5%

in the year

G-20 sawmsrenfliy GHludemg 2020 b <&@ @ﬁsﬂwneﬁldn QuraTTsny eueTias)

A4)

©

& Q(HEBGLD.
6.5% . B) 5.5%

7.5% D) 8.5%

105. In the year 1951, Population growth rate is called

@)

®

©
RV

1951 b sypar(® WESET AgTens QLHESs eisb Geieurn @;w@é&ﬁu@é}m@

(A)
(B)
©)

(D)

Year of Great Divide
Year of Population Explosion
Year of Population

Year of Small Divide

Qu(mLd GfleQaran 24,aT(H)
w&ser Asrens ClauigUiL| perH
Ww&&6T QgTens e[

Am Geray pem(H
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106. In which desert is Noor Complex located?

d Sahara Deserf
(B) Thar Desert
(C) Kalhari Desert
(D)  Gopi Desert

BT SMDLIETEED 6THS LITEeUaTSS 60 DiemDbeTeng)?
(A) FapmyT UTEMEEUETLD

(B) g;rrfr LITEDEVEETLD

(C) seannfl urenaeueID

D) - Csm9 ureneweueILd

107. Which of the following statement(s) is/are correct?
1. In 2019, World Environment Day was Celebrated in China.

2. The, Theme for the World Environment Day is Air Pollution.
w 1 and 2 are true
- (B) 1istrue, 2is false
(C) 1and 2 are false
(D) 2istrue, 1is false

Yemau(mid sammisefle eraneu sflwimeng)?

1. 2019 gyb %mnq_em 2 8 FHNIFSPH Ser QararLm L b Fammedd peoLAUHDS)
2. 2Z6eT MLWS S(HSSI : HTHY DTG

A) 1,2 gfwemeu &l

®B) 1s&f2sam

©). 1,2 gy dwemeu seum

D). 2R, 1saim %

CCS4T/19 30



108. The objective of Jandhan Yojana is
| \Mf Financial inclusion
(B) Reducing regional disparities
(C)  Social exclusion '

(D) Population control

mengen S_Lsdlen @MHaEGamer

A)  mareuamyub e erarsdlw Qumrmernsmy perGarhpLd
B)  Grmpdu gHps sMpeis@en G@DUILSI

©) saps s

D) w&s Qgrens s BLLTEH

109. France has party system.

(A) Single party : w Multi party
(C) Biparty _ (D) None

Wgrenéled 2 arer &8 penm

A) ghonss 8 e B) ue a8 e
- (C) @riew &8 Wpenn (D) ergiayb Qevenew

110. Which water conservation campaign has been recently launched by the Central

Government? :
(A) Jal Bachav Abhiyan (B) Jal Tarang Abhiyan
(C)  Jal Suraksha Abhiyan \J#T Jal Shakthi Abhiyan

wEHW Sigemer Qsm_msiu Herer B LTGSTILL LFULET 6T8)?
(A) e ugsmeu wimen B) g gym snSwimer

©C) g arsayr oGwrer - - (D) g ssd oyQurer

« 31 CCS4T/19
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111. The major port along the West Coast

u( Kandla _ (B) Chennai

(C) Paradip ' (D) Kolkata

CunE sLnaamruile emwhgiarer Guflu gammapsid
(A) serer (B) Qoeranen

C) wumsu | (D) Qas.rr@as‘&,gsn

112. In lower organisms sometimes the entire mature organisms do not form gametes but
they themselves behave as gametes and the fusion of such mature individuals is

known as
(A) Anisogamy
(B) Merogamy

(C) Paedogamy

d‘ Hologamy

Spfloe o uwflselld Ho sowhsale wdits o wflsar Qasbsosmar a@mn&;&ﬁm@
SeuaiflsCer @Qend Geesear Cumeny Qsweul B padeoanng udu e ulflsmeans
Comhmieilé@h Clewe

A) CagulL Qg Cersams
(B) wrgulL Qe Carsams
C) @ed Qsed Coirgans

(D) - Qp@ Cersens
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113. Match the following :

(a)
®)
(©)
(d)

&)

O 4

©)
D)

Place

Delhi
Central India
Lucknow

Kanpur

(@) (b)

2 1

W}

1 3

4

Do

QuUTBSE!S :

(a)
(®)
©
)

@)
®)
©

o)

@Lib

QLeved

g Gplwm
&Geam
Smemyit

@ o

(©)

(©

Leaders of the revolt

1. Begum Hazarat Mahal
2. Tantia Tope
3. Rani Laxmi Bai

4. Bhadur Shah - II

Aarigduded rFHULL g,mma.lfrasﬁT .

1. Cuswb anevrs Qane
2.  smpHum CamiiGur

3. @urexfl @l s umis

4. usgniagm - II
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114. Who was selected as the first Chief Vigilance Commissioner of India?

(A) Sharad Kumar
(B) B.K. Acharya
vl.d Nittoor Srinivasa Rau

(D) R.P. Khanna ‘

Wpsomausnts CameshHiasul L pRHeue el amTe) gy amemmugser D@ ERTWLIT WITH?
A) &75 G

B) BXK. wyésmium

(C) B Fafeurs ey

(D) R.P. sawewrm

115. Consumer Protection Act is called as

(A) Tamil Nadu Nugarvor Kavasam
d Consumer's Magna Carta -
(C) World Nugarvor Kavasam

(D) Valuable Consumer Kavasam

BTG UTGSTUL FL L 1b ———————— 6T P& UILIHEDS).
Q) sOwpETH HETGeNT LTgSTUIL SEUFLD

B) msiGeurfier waremrsead

(C) oos gj&.‘era.lrrr'r HEUFLD

D) wdiyerer H&TCaNT Heugid
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116. In which model of elections, the President and the Vice-President, the members of
the Rajya Sabha are elected?

(A) By-Elections (B) Direct Election
M Indirect Election (D) Mid-Term polls

GG WIES SODEUT LHDID FIOMT G4 WIES SM6ul, HrLm@Epweam Guodsmu a_gjljlﬂlmfrasei'r
ey epald CaibosHés ILHE amen.

A @ors Ggr’rgsétwrseh : (B) Cryys Caise aperm
(C) wvenapss Coiigen werm D) @eiumeus Cairgeser

117. Which of the following statements is / are correct?

3 The term of office of the Governor is five years
2! He can remain in office till his successor enters. upon the office of the
Governor.

M Both 1, 2 are correct
(B) oﬁly 1is correct
©) orily 2 is correct

(D) Both 1, 2 are incorrect

Gemeumid sapmsatley ereneu Fiflwimang?

2 @Eppiler LselEsTead ghHgl <L (HisaT.
2.  yeppllar usels sreb yamLbs CuTdgb sl Gerarnm aumuei LgICLHEWD
eueny ugeduder Qgm_rSmmi.

A) 1,2 98w @rar@®Gw &l
B) 1wl @B e

(C) 2wl @b

D) 1.2 gdu QrenGGw seun

= ' 35 CCS4T/19
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118. Which of the following statements about bases is /are true?

I
11T

1L

Base is a substance which releases hydroxide ions when dissolved in water
They change blue litmus to red

Zinc reacts with sodium hydroxide to form Sodium Zineate with the liberation

of hydrogen gas

They are colourless with phenolphthalein and pink WJth methyl orange

\f I and III

B)

(©
)

II only
IIT and IV

IV and I1

srymiser unHlu Spssar spniseie ergl/erameu aifl.

I

IL.

III.

IV.

(A)
B)
©)

D)

CCS4T/19

smmsar Bl soybs @apl gréms® Swealsmars smb GCaMomssr SmymEeT

eraniui(hdlesTment
Qeai fo Sl o6 graners Heuliuins wrHoidetmer

&§16epTeL, Gsmgwid @anlgrémsbLer e fibg @aplymer  eumweeu
QauafluS_H& Camgwib Qs oL g smdns

Qe WamiusalgiL e Finwpnsrse|n Clssle repasLear Qererdlaliy Flngsmau|b
B[Sl emen

I wpmio 1T
II wl @
IIT whmo IV

IV womib 1T
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119. Match List I with List II :

(@)
(b)
©
(@)

Right to equality
Right to Freedom
Right to constitutional remedies

Right to freedom of religion

(@ B © @

M2 3 4 P

(B)
©)
D)

1 4 3 2
3 2 1 4
4 1 2 3

utigwe I g IT 2.1 er QurRS 8IS :

(a)
(b)
- ©

(d)

A)

©

_(D).

gggieu 2 Mew

&5H87 2 fenn

Sirflweenwbn@ul®

Sirey aremid 2 Menwo
gww &5HSly 2 flevo
@ ®  © @

ol 7 g RS

1 4 3 2
3 2 1 4

37

Articles 25-28
Articles 14-18
Articles 19—22_

Article 32

eflfger 25 psed 28 cueny
alflser 14 1psed 18 cuany

efiflaer 19 apsed 22 aueny

o948 32
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. 120. From when Women were granted the right to vote in British India?

(A) 1920
G 1921
©) 1922
D) 1923

QAL e 6y @bl wimedler QLiGTE EBéE UTEG N 6TbS 24aTiq 60l (BibE QUPRISLILIL L &7

(A) 1920
®) 1921
© 1922
(D) 1923

121,

In which year the Staff Selection Board was established in Tamilnadu durihg the
Panagal Ministry?

) 1916
B) 1920

A 1924

(D) 1927

L&) e&FTamauwmed 2 haurssuul L uaflwrart Ggrey eumflub HOWDBT g 6THS

e ® Camhpiedsstiu L g?
(A) 1916
B) 1920
-(C) 1924
(D) 1927

CCS4T/19 ; 38 .



122. Match the following :

@)
(b)
(©
(d)

(A)
®)
©)

v )

Thembavani
Seerapuranam
Bhagvad Gita
Tripitakas
@ ® © @

4 3 1 2

2 1 3 4
1 3 4 2

Quimm s FLOWRIGET érrr'r;_'r,g BISET :

(@)
(b)
©
(d)

4)
(B)
©
D)

CSg,Lbunsumﬂ
EpmiLyrewTid
LEUSEDS
AfSL a0

@ ® @© @

4 3 1 2
2 T 4
1 3 4 2
2 4 1 3

39

Hindus
Christians
Buddhists

Muslims

@)Bg FLWLD

Sllavgieu Fowib

' LSS FLOWILD

@evemd FLOWILD
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123. ———————— was discovered in 1922 under the Supervision of R.D. Bannerji.

w Mohenjadaro (B) Harappa
(C) Lothal _ (D) Kalibangan

R.D. unenirgd eremuicuymed 1922 b semr_dluidiul L psyn

(4) QumranEpesTCrm B) apyuumr
©) Comssd D) sdluhsen

124. Who was called as ‘the father of Modern Currency’ during the Mughal period?

(A) Babur (B) Akbar
W Shershah (D) Shah Jahan

WPEOMUIT STOSSM ‘Belar Brammu (penuler SHas eTar HIPEHLILIL L Gl Wli?
&) i | B) wsui

(C) Qegitagm (D) egmsammen

125. In the year 2017-18 The Per Capita Income (GSDP) of Tamil Nadu was

A) $1670 df $ 2200
(©) $1443 | D) $2175

2017-18 & gilpmm_ig e gefl pLT eumomend (GSDP) ereucuarey?

A $1670 (B) $ 2200
(©) $1443 ' D) $2175
CCS4T/19 ' 40



126. The Utkal plain is found in —— state.
(A) Andhrapradesh Ler (B) Mui:nbai
' Odhisha ' (D) Tamil Nadu
2 55 Fwbeuaf] IS0 eDOBIIETETS).
A)  <pdnarGsen : B) @weu
(©)  @uan D) sbpBrG

127. 0° longitude and 0° latitude is located in

(A) Central Australia
(B) Brazil

M Atlantic South and West of Africa
(D) South pole

0° Sirse Crenawyb 0° oils Crensw b srewrliL(heug)

A)  wsHwu evdHCrellwim

B)  GCrole

(C) QAgen o erarrgs wHnD ConeE HIIAMEsT
(D) Qgen giHeumsafle ‘

128. Swine Flu is caused by

(A) Rubella virus (B) Rhino virus
@ HIN1 virus (D) Alpha virus

ueT SMUFFME 2 (HEUTEHEGLD eNEUF6

A) @ueeT eureD B) egGenm eneurev

(C) HIN1 emeugev (D) e um eaurev

& | 41 _ - CCS41/19
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129. The Androgen Binding proteiﬁ is produced by

(A)
(B)
©)

N

Hypothalamus
Leydig cells
Testosterone

Sertoli cells

| e Crrmer @eare, LTss®ms 2 Huss Gsliume

(4)
B)
©)
D)

@anGUTgemoe
60lq. S FSET
QLevCLrevte Gymes

QarCLred Qaevaer

130. Assertion (A) : Blood samples are usually taken from the veins rather than

artery
Reason (R) . Low Pressure in the veins

W

Both (A) and (R) are true and (R) is the correct explanation of (A)

B) (A) is true, (R) is false
(C) (A) is false, (R) is true

- (D) Both (A) and (R) are true and (R) is not the correct explanation of (A)
ganm (A) - : Qs wrdflaer er(Héss swallsamer ell_& HagsCer fphsame
sryewrd (R) 1 Saysaile Qrss SI(WSEL GD@DTS QHEEGLD
A @A wonid (R) @rewr@b #f Coaiw (R) eramug) (A) elng sflwirer eferéasd
@) (A) ol s> (B) sty |
© (&) soup e ®) o |
(D) (A wombd (R) @ram@®d &fl Cuaibd (R) eremug) (A) eflh@ sflwrer eflaréssweae

CCS4T/19
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131. Which of the following fact is incorrect about monocotyledonous plants?

132.

(A)
(B)
©)

'

Seed has single cotyledon
Leaves have parallel venation
Fibrous root system present

L

Flowers are pentamerous

Yerau(mid peilsdleaney sreugmiser uHMw sahmsaier SeupTeaTs 6T8I?

A)
B)
©)
D)

eflens @@Gﬁlggﬂmwmm QamearTLg)
@aasafier @emartiCUITEE BrLLUMWLE| SreasTliL(HE DS
sallGeurd Qam@liy srarriLi(hEng

LHSEIS T STarTlLI(HH MG

Which of the following fact is incorrect about mitosis?

(A)
7
©)
(D)

It occurs only in body cells
Mitosis has two divisions
Maintenance of 2n chromosomes

Two diploid cells are produced

el Lrélev updlu Gemeumid sapmisefier seumrerns) 6r5:?

@A)

B)

(©)

(D)

2 L& Qeavasafley ol Hib pe QunHns

el Lrflev QW UGLILEmeTS Q& TeTLg)
2n’ gCrrCurCambaer HlaneBlmiss 1LHE DG
@ @ wwwbaager Cgmemmd enmer

43
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133. Which of the following are wrong?

I

II.

III.

IV.

(A)

©

®)

Na2COg is used in softening hard water
NaHCOj3 is used for bleaching cotton and linen in textile industry
CaS04 ¥% H30 is used for plastering fractured bones

CaOCls is used in making of baking powder

Iand IV
II and IV

I and III

IIT and IV

lesTeu(meuaTeuHMIET S6UDTRTMa GTEe ?

=
I1.

III.

A)
B)
©)

D)

CCS4T/19

NazCOs s.an Seny Quanafins wrmpls LweruGEns
NaHCOj; u@mss, Seanen gianflaamer Qeu@pssts LwerLBEng)
CaSO4 % H20 wpdbs ereyibLisemer gal'_l_mm;lisasu LweruGEH s

CaOCl: Qprilig&Camm gwrilésys LweruBE g

I womid IV
IT whmn IV
I wiomwo IIT

IIT whmd IV
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134. Focal length of a convex mirror whose radius of curvature 40 cm is

W 20cm (B) 40cm

(C) 80cm (D) infinity

40 Qe.15 euanerey 471d 2 el W Gedlwmg gandler Gelws Asrameay

(A) 20Qs8 (B) 40 Qs.8
(C) 80 Qs.8 D) e

135. A man has to exert a force of 10 N at the edge of a door to push it open. How much,
force will the man have to exert if he pushes the centre of the door?

4 10N ®B) 5N
(@ 15N , W7 20N

R BUT @ Ss@eu Igen woande (wsuldiguidr) 10 N gere dlasmwu CQegiss
Souun, erafler G ssmeu Siger evowis LGS uler Qmba Fnés ComeuiL@b eflensuder
W LiL| eTetren? :

A) 10N . (B) 5N
) 15N - ' D) 20N

136. The first battery was made by

[\ (A) Joule (B) George Simon ohm
' W Alessandro Volta (D) Newton

W5 WVTHOEHMS 2 (Heumsd ey

A) gre (B) gniigh engioetr gpid

(C)  <@asstam Cyr GaurdLm D) Al Len

s s CCS4T/19
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137. The average height of 12 students in a class was calculated as 152 cm. On
verification it was found that one reading was wrongly recorded as 148 cm instead of
172 em. Find the correct mean height

(A) 150 cm
(B) 156cm
(C) 158cm

W 154cm

@0 wEL9e 12 wrameuiseflar syrefl 2 wgb 152 Qs.185 erars samsd vl L g). sflumiégid
Curg 172 Q.8 eranmuens 148 Qa8 eran seupns ahdsHs Qarareriiul L grs Qsflu ubss)
Grsuﬂd_) gflwren grmef 2 wiyd wrg)?

A) 150 Gs.8
B) 156 Q.8
(C) 158 Q.8
D) 154 Gs.8

138. The difference of the squares of two- positive numbers is 45. The square of the
smaller number is four times the larger number. Find the numbers

(A) 3and15

B) 9and5
(C) 3and16
D) 9Yand6

@uew(h Wens erawaetian eussmsafien ellsSwimen 45. Hlw eramrenflan cuissd < peng Qulw
GTERTERT 60T BTEN (S LIS N EE FLOLD Tl DibS CTERTHEMETE SRS

A) 3 wpmw 15

B) 9uwHmw 5

(©) 3'whmw 16

_- d 9 O 6
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139.

140.

The radius of a cart wheel is 35 cm. How many revolution does it make in travelling
a distance of 154 m

W

®) 189
(© 119
D) 86

LDrrl'_@ cuanTiq.& F6aTSH e 2y 35 Ga.15. 95 154 8 Qsranee SLHSTO, SEEESTD &S
WWEsHMISET &OOUIHEGD?

@A) 170
®) 189
© 119

D) 86

Saran is 6 times as old as his son Sankar. After 4 yearé, he will be 4 times as old as

his son. What are their present ages?

&) 30,5 O 36,6

(C) 48,8 (D) 24,4

gyawr ererueuflen euwig) ser waen Frsfar auwams Cure 6 wLkE. 4 uGLBSE SL058)

Seuifler auwgy) waer euwenss Gumed 4 wL_rkiE arafled, Seuisaflen sHCLTMSW GuLIg) cTemen?

A) 30,5 (B) 36,6

(©) 48,8 | D) 24,4

47 | CCSA4T/19
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141. Express 0.35 into fraction

gEit Hah 35
d 99 B) 200
5 . 35
© _3E : 200 1000

035 GTEMm eraRTenanT 9 GTaTONS LOTHMIS

T | 35
@ 359 ® 100
B 35
(©) 315 _ ®) e

 142. How many numbers are there between 200 and 300 which are exactly divisible by 6,
8 and 9? : '

One

A)
d Two

(C) Three
(D) Four

200 &@W0 300 &G @er_Cuw 6, 8 LHMID 9 AW TETEETTD QIGULE Flq Ul CTERTHET THSST
2 _GTeTen?

&) g

B) @renG

©) e

D) prevg

. CCSAT/9 48 | &



143. Acandoa piece of work in 20 days and B can do it in 30 days. How long will they

144.

take to do the work together?

(A) 10 days

\M 12 days

(C) 11 days

- (D) 20days

A g gm Caumaamwu 20 s _seaflgin, B GI’GE!TUQJ[-TIQIG‘&, Camamw 30 prisafigid
Qg apgLiumiser. euelmeumid Caibs SeGa@amus QELIS Py &s TESMET HIL_S6T
2GD?

(A) 10 priser

B) 12 priser

©) 11 priser

(D) 20 priser

If 14 compositors can compose 70 pages of a book in 5 hours, how many compositors
will compose 100 pages of this book in 10 hours?

A) 12 . : V.B( 10

©) 8 D) 7

14 oisad Gamitiueuiad, 5 weafl Crrsde @m ussssdan 70 usshismer gL 10 wenfl

Crrsde, 100 Lussnismar (1piy&s ssamar i&as Cariueuiser Caameu?

(@A) 12 | B) 10

©) 8 D) 7

49 CCS4T/19
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145. Find the simple interest on ¥ 7,500 at 8% per annum per 1 year 6 months.

(A) 600 (B) % 700

(C) 800 I 2900

T 7,500 &5 8% eu’ig sﬁg,d) (1 GuU(BLLD 6 LOITS BI85 (GThEE T 60T gsuﬂ QUL Ig WG SHTETS.

A) %600 (B) % 700

(©) = 7800 S Pl D) z 900

146. Cricket player Dhoni's average in first 30 matches was 72 runs. After 31st match, his

average raised as 73 runs. How many runs did he make in 315t match? -

@A) 100 G 103

© 174 (D) 108

Af&0a oSyt CLrmaflllen s 30 L misEpsarar symefl UL (runs) 72 e
: a;smé;éll_uul'_tqlr@‘r_i',ggj. 31 aug @ L1b pe Qupdp e Sjeumentw sgnafl @ULb 73 6
2 WiThsg erafed 31 peug 241 L SHled Sl THSH MBS @LLhiger (runs) erégsemen? .
‘0 (A).- 1100 (B) 103

C) 174 (D) 108
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| 147. Arrange in ascending order -2—-;—-3-
e @e Lio
© 3} o 331
gm euflensuied erpgis %,%,%
w 143 ™ 138
o 351 o 342

148. ‘In a T — 20 cricket match, Raju hit a “six” 10 times out of 50 balls he played. If a ball
was selected at random. Find the probability that he would not have hit a “six”.

V2

D)

)

(5 W SC R} S

ol o=

©)

T — 20 wleLtupg Cumigule gre 50 upgsmer i Qaran® 10 wen “m”
@ULmGmaT rHSsTT. Sjeul erdlibasram ubgsafler @m ubms sweumiiiy weanulled
CsibAsM&EL Cung ofd et “@mn” @l kiser aRssmod Qnuusnarear Hapssey

- GTeuTEu?
1 4
(4) =~ ®) =
6 3
©) = (D) =
& ' 51 CCSAT/19
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149. ‘Right to clean water’ is a fundamental right, under the Indian Constitution,

(A)  Article 12 G Artide 21
(C) Article 31 _ (D) Article 41

‘@gsorer Gubi QUsH eraug BLg SigliuamL 2 flaw. @& @Abdu Sirflumeawiida

e Gflefled o dlujereng)?
A) Qfey12 ' B) \Gfley21
(C) YGfley31 (D) YGfley41

150. “The Detroit of Asia” is

(A) Hyderabad d Chennai
(©) Mumbai (D) Surat

‘g Aluimefler QLigmi’ eremmenpsasiLI(BD @L b

A) apsyTuTs B) Qsenenen
© wveu ®) s

151. The education system in India consists of primarily levels.
(A Eight : yaif Six
(C) Four : (D) Two
@pdHw soefpenn, gLt ufed Hlevasamars Qarar(Hererg).
@ i B) =m

©) preng D) Qe
CCS4T/19 52 : &



152. Kamaraj served as the Chief Minister of Tamil Nadu for

(A) T7years (B) 8years
M 9 years (D) 10 years

SOID BT 196 WPSOEDEFFTTE STOFTYT LS cudlssg)

A  7emLmser (B) 8eumLmser

©) 9 aumLiaser (D) 10 eumLraser
153. GST came into effect on ———— in India.

(A) 29t March 2017 & 1 July 2017

(C) 29t March 2016 ' (D) 1t July 2016

GST @pdwurefé paL1panss aubss)

(A) 29 & 2017 : (B) 1 g9« 2017
(C) 29 i 2016 D) 159« 2016

154. Mutant variety of wheat is

(A) Oenothera Lamarkiana (B) Castor Aruna
W Sharbati Sonora (D) Mirabilis Jalaba

B wrHm Cargiemio ums
(A)  FCeamSym @moriésdwreT . (B)  yersE SimewTT
(C) e&miud QenCarmym (D) Bgm9edlenv gevmum

@ : 53 CCS4T/19
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155. - Which of the following statément is not correct?
(A) Indus Valley people used burﬁt bricks
;B) This civilization flourished in India about 4700 years ago
(C) Harappa in Sindhi means “Buried City”

w Hundreds of square seals were discovered here

TS S DD SaIDTENSI?

A) = Azl swleuafl és6T &1L Cemspsmans LweTL S et

(B) gt 4700 2, (H&EHEE ety @BETEME0 e THss)

(©C) awylumerenmm él@glgmrﬂ@é G]&rr;sb@é;@; ‘Leng et B&JLD’ eremLig) GlLimmerr

D) sgyaugelorear BIHmGsmESTE (PSH@Is6T @n@E saTaLHéslul Hararg) -

156. Which article of the Indian Constitution talks about ‘Taxes levied and collected by
the Union but assigned to the States'? :

A)  Art. 201 G Art. 269

(C) Art.272 (D) Art. 268

‘WAL BiTETeD NHEHIILL HID, CUEESHILIL BIb, LIHOBISEFES (REIEHHIIGILI CUATRIGET

upil GHUEAEL @B STl L SH6m ST5F) 6TewT Wimg)?
(A) &rss 201 ' (B) s&rss 269
©C) &an55 272 (D) &yss 268

CCS4T/19 54 =



157.

158.

I. Baripada : A hamlet that Conserves Forest, promotes growth.

II. Baripada : Located in Maharastra - Gujarat border.

I is true but II is false

M I and II is true

(C) 11is false but II is true
(D) IandII are false

I urflucr : sT@Esmer LNTESTES QuETUILHSSID @ GSSHTTOLD.
IL umfur : D@D TGl IIT - GRITS eTbamauile) SiemBFIeTaTens)
Q) I eemug &, gyemmed 11 geum

B) I wpmwb II sNwrerameu

©) I aemug seum, 2 eme I eramugy &l

D) I womw II geuprereama

Chennai becomes the Indian city with metro railway.

(A) first
(B) fifth

& sixth

(D) second

Qpduw ereflev, Qgerenar Ba&FD, Gl _Crm @ruiled Ceameu CsmeirL

A) @soraug
(B) @Hsreug)
©) <wmeug

(D) @uerr_meug)

55

B&JLOTGLD.
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159. When was Swachh Bharat Abhiyan was announced by the Prime Minister?

2 Oct 2013

M 15 August 2014

(C) 2 Oct 2015
D) 2 Oct 2016

erLQuImpg) eveud Lmys o Qwimer ArsLo wHGMwTD iMeNssiLr L g)?
A) 2 SECLLT2013

B) 15 <ysevr 2014

(C) 2 =6GLmuir2015

D) 26Crmur2016

160. How many political parties participated in the 1951 First Indian General Election?

w54

(B) 64
< 174
D) 84

- 1951-g4ib @r® poLQuin Wwse @du QurgsECsisdled Gum Uil L &l dser

CTESEET ?
@A) 54
B) 64
© 74
(D) 84
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161. India's central meridian passes through

(A)  Ahmedabad
\ﬁf Mirzapur
(C) Greenwich

(D) Gujarat

@pdHwnellarn wsHw Siss Crens auflwing Qaogidlmg.

A) sLETUTS

(B) Oigmyr
(C) Sfenells

D) egms

162. Who is the first Indian transgender to be honoured with 'Padmashri'?

(A) Satyasree Sharmila
(B) . Prithika Yashini

& Narthaki Natraj

(D) Tamilselvi

UoB' s Qupp s @pBL Hophes wni?
) ag,;@g agirler

B) Yfsdsr wrafe

(C) Bz BTy

D) sl GI&ei.)Gﬁl

& . . _ 57 ‘ CCS4T/19
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163. During 1857, the peasants had tc; pay heavy taxes in the form of
w‘ ' Land tax
(B) Customs duty
(C) Revenue tax

(D) Service tax

| 1857 e @Lnru_lrrwa.lfw;dr 2iFlsrs Qsss Couamg uilmHs cul
@)  fo
B) ams e
©)  aupreraf

D) Gsereuauffi

164. Home rule Ieagué in Bolmbay was formed by
(A) Bharathiar
(B) Mrs. Annie Besant

(C) Nehru

G Tilak

uburlle senerm_ & swasamg ComHmieisseur
A) umgHwmi

B) Hmws. a{@@ﬂ@ﬁ&é}l'_

© oo

@) Hosi
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165. Match the following :

| (a) Herald of new age
(b) Martin Luther of Hinduism
(¢) New India
(d) Photo Voltaic lighting system
@ ®» © @
A 1 3 2 4
| I 2 4 1 3
C) 4 3 2 1
D) 1 4 3 2
CQuUTBSSIs :
(a) peiar @pdlwmeden afly. Qaucref
(b) @pgl swwsHern L ig 6 QIS
© P @pHun
d) @Gfw qefl apad Wensmid
(a) (b) © (G
A 1 3 2 4
(B) 2 4 1 3
€) 4 S o 1
D) 1 -4 3 2

1. Annie Besant
2. Raja Rammohan Roy
3. Ramakrishna Mission

4. Swami Dyanandha Saraswathi

1. anafl Gugen
2. @umgam pmbCromger Fmi
3. @umdl(megemrT LD

4. seumf gwreanhs sreveud
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166. The Central Vigilance Commission was established on the recommendation of

(A) Administrative Reforms Commission
(B) National Development Council
M Santhanam Committee on Prevention of Corruption

(D) Law Commission

Geiar ufipgiemyuiler oiqlumLwle wiHL  sersTemiiy %me‘mmu}.
DDESLILILL ). '

Q) Hireuns ST HEs p@eTUID

B) Csélw eueariddls @

(©)  appnamd ssnpe 5L 69

D) &L ymamwuib

. 167. The Chief Justice and other Judges of the Indian Supreme Court are appointed by

M The President

(B)  The Attorney General
(C) The Governor
(D) The Prime Minister

Qpdw 2 && BHlwerm samaamw BHUS wHmb 90 ;Sé]uﬁa;mm Budliualr
@A) ewwres swea

(B) SIMOELD GULPE &N (GHIT

©)  enpi

(D) Yysw SimwesT

CCS4T1/19 : 60 ' ©



168. Which. Amendment has made provisions related to ‘Nagar Palikas’ (Urban Local

Governments)?

(A) . 73" Amendment Act (B) 75t Amendment Act’
M 74th Amendment Act (D) 70th Amendment Act
‘BaT LTSt LD &MMHS FL_L H(HSSD DG LD.

(A)  73eug) sl L H(mSsLD (B) 75eug s H(mssd
(C)  Thaug s L Simssid (D) 70cug s L Hmssid

169. Which Union Territory has its own elected Legislative Assembly?

(A) Chandigarh (B) Lakshadweep
M Puducherry (D) Daman and Diu

Spsaar_cupner aps wellwer GgGseb  sarsseanm LD&SETTED CamOsHiEsILLL
gL wermid Garenrg)

(A) éFGﬁUTLq.ail-T. : (B) @lssSeser
©) ygsGe (D) Lmweéir wHmib Ly,

170. In Lok Sabha, how many members are elected directly by the people?

453 (B) 354

(A)
W 543 (D) 545

wéseTemauudled wasearmed Corgwins CambosHésuILBD 2 ninlansafler cramantsams wng)?
(4) 453 (B) 354
(C) 543 (D) 545

= : : 61 - CCS4T/19
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171. Which article of The Indian Constitution deals with fundamental rights?

(A). 14

® 19 THIS QUESTION AND ANSWER ARE TO BE

© 32 PLACED BEFORE THE EXPERT COMMITTEE
FOR FINAL DECISION.

M) b51A

Qi sirflweewlitber apg afld 2iqlumL s sLamwsmer GNés eferéESns:?

@ 14

®) 19 8 iCadrall npmnd aflen B ms) puallhsrs
i) J2 i aisi @apallar gpai swiiEsiuL e diarg).
D) 51 '

172. Which right has been abolished by the 44th Amendment Act, 1978?
(A) Right to freedom of religion

(B) Right against Exploitation

w Right to Property
(D) Right to Constitutional remedies

1978& 44eug) a:;reﬂu.la)mmuqs sLLg HmsssHenuy  Sigliuem &rﬂmmu&]mﬂ@;ﬁg
Bastul L 2 Menw e ?

A) swws szpHrssnarer o Mao
B) syar_ae sOLUgHETar 2 Memio
(C) Qemsgflenw

D) ewdlueewiiy el SieseEpssTer o Aao
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173.

174.

‘The Right to Information Act’ was passed by parliament on

(A) 20 October 2005 (B) 21 October 2005
(C) 25 October 2005 (D) 12 October 2005

THIS QUESTION AND ANSWER ARE TO BE
PLACED BEEFORETHE EXPERT COMMITTEE
FORFINAL DECISIOMN.

‘& Pl o flens s L b’ urymEpamsSld BlanGaunnuulL prer
(A) 20 &&CGLmur 2005 B) 21 =&CLmuir 2005
(C) 25 =&CLmur 2005 D) 12 =&CLmur 2005
8 £ Csdrall bdopd allean B misl gpy allhsrs

i it @& pallar gpair swirnnNEsOLL 2 crars.
Match the following :

(a) First session of Constituent Assembly 1. 4th April 1957

(b) Date on which Drafting
Committee was setup 13th May 1952

(¢) 1stsitting of Rajya Sabha 29th August 1947
(d) Dissolution of the 15t Lok Sabha 4. 9th December 1946

(a) ® ©© @

w0 N

g;; ‘1‘ 3 g i THIS QUESTION AND ANSWER ARE TO BE
©) 3 1 4 9  PLACED BEFORE THE EXPERT COMMITTEE
@) 2 4 1 3 FORFINAL DECISION.

Glu‘rr({r;ggjalz

(@) irflue flifaru gL PGSO Fal L LD 1. 4 glugev 1957

(b) euareys @ 2 (heunssiLL L GCad 2. 13 G 1952

(© wrhemser smeiuier wge sal LgAsm i 3. 29 ysevl 1947

d) EywrsdHeand 4. 9 q_&\.'our'r 1946

(a) b)) (© (d)

) 4 3 2 1 @&Csdrall wpmd el 8 nis) oy allsrs
®) 1 2 3 4

©) 3 1 4 o adaini @qpalldr e swilllEsiuL o diarg.
D) 2 4 1 3

63 : CCS4T/19
[Turn over



175. The Railway Station “Mendipathar” is located in

(A) Sikkim
d Meghalaya
(C) -Tripura

(D) _N_agaland.

“@uoémg LG @ruie ‘rﬂaﬁwq_u.b aHS mnﬂmgﬁé-&mm‘&)@mwg,j-?
(A) &sdlo ; | ‘

(B) CGusmeowmr

©) Aflygm

- (D) preerms

176. The first state to be created on Linguistic basis was

(A) Kashmir
(B) Tamilnadu

(C) Karnataka

& Andhra

@& Qumfam wrhob ag?
(A)  sneydi

B) sOpBTE

©) siprLsn

D)  pdgm
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X7d.

178.

179.

Who provided the Vimana of the famous Nataraja temple at Chidambaram with a

golden roof?
(A) Raja Rajan -1 - (@/ Parantaka — I
(C) Rajendira-—1I (D) Narasimhavarman — I

Slgburd BLITRT Qowsslen smarsE Qumpamemy Ceulibgeui wri?

(A)  @psemd FregymEge B) wsembd uyTHsse
(©) @sembd gnGyndlyen = L (D) @psed Brélibioeuioe

Who was.called “Madurai Kondan”?

(A) Aditya-1 (B) . Rajarajan —1I
(C) Raja Raja—1I f Parantaka — 1

“gieoy QamamLmer ereim LsUILL L Guif wim?

A) @sord YHsHwT (B) @pzeomb @uremrrme
(C) @uewrmb @urgymeen : D) @psemd uurr;_iag;eseh '

Who was the son of Simhavishnu?

(A) Narasimha Varman - M Mahendra Varman-I
(C) Parameswar Varman (D) Nandivarman '
&libweSlaipamiellem eser wimi?
(A)  mrélibeuiioer B)  @psemd wCsBHHFeuTOET
(C) wupCueveuryeuroes (D) mhdleuimoer '
65 CCS4T/19

[Turn over



180. Headquarter of West Central Railway

(A) Mumbai (B) Hubli
(C) New Delhi W Jabalpur

Cuh@ widHw FuledGeuudiern senaenoud b
A) @wenu (B) am~iefl

©) ysg Qe - (D) gueyr

181. Which of the following is correctly matched :

I. Indus —  Gangothri

II.. Brahmaputra — Lake Manasarovar
III. Godavari —  Bettul

IV. Mahanadi - Agasthiyar Hills

@) I ' Sl
(C) III : (D) IV

Spsaa_cupmier sflurs QuImasILL HETaTg) 6rg)?

i 8ibg) —  saCsrsM

II. Qyowysgyr —  wrensCpmeur gl

III. CGanrgmeufl - Qul@e .

IV, waipd - 2555w e

4) _II _ @B I
(C) III : A - D) IV
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182. Which of the following facts are correct about prokaryotic cells

I. Prominent nucleus is absent
II. Nucleolus is present
ITII. Mitosis and meiosis cell divisions are takes place

IV. Enveloped cell organelles are absent

(A) IandII are correct
M I and IV are correct
(C) 1II and III are correct

(D) III and IV are correct

Getreu(md LCrmCaMCwm’ ( Qeaser Lpw sapmiseaies #flurarameu ereneu?

L Qgpefleurar 2 s HeoLwing
II.  flyseliCGures srariu®Sng
III. eow Lrélev wHmb WwrHev G&ei)xﬁ]rﬂg,s‘u BenL_GumSng)

IV. seuefarme @uliul L Qe parannlilser Hewing

A) Iwpmbllsf
B) IwomywbIV e
(C) II'wpmib I1I &

D) I whmi IV &f

= : 67
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183. Which of the following is correct?

Volume of COz liberated
w Respirato;'y Quotient = y;1ume of Oz consumed

Volume of Oz liberated

(B)  Respiratory Quotient = ylume of CO2 consumed

Volume of Oz consumed
(C)  Respiratory Quotient = Volume of COz liberated

Volume of CO32 consumed

(D)  Respiratory Quotient =" v, 1. o of O, liberated

Qereumeuasteundled Fiflwimeng) erg)? -

Qeuaflldtiu@w COz2 jerey

A eigd =
) el vwearu®sstuBw Oz ojerey

Qeuaflll L@ Oz erey

B) seunsaigd = LwearLESsLILEWL CO2 Bieray

vwerBssuu@ Oz jeray
Qeuefud_ L@ CO2 jerey

(C) @eunselsib =

vweru@ssiu@n CO2 2jerey
D) sansaisb= QaaflLiiu@n Oz Sietey

CCS4TN9 : 68



184. The reaction which takes place at cathode of an electrochemical cell is

(A) oxidation

(B) neutralisation

(d' reduction

(D) substitution reaction

20 Bler Ceudls sveaflen erdlmdlameumule Hlapib eflaner
A) sallnGanmmmd .

B) phHeowuTssD

(C) ysediger @H&sD

D) uHSL B Nener

185, An example of commonly used Insecticide is

(A) Bordeaux mixture

(B) 2, 4-Dichloro phenoxy acetic acid
w Dichloro diphenyl trichloro ethane

(D) Arsenic

Qurgieunsts LuETLESSILBL LEHS arodlsEs adssEsT ()
A)  Guni_msab seaa

B) 2,4 oL ECemCrm Senmged) 1.5 ded

(C) eLECermCyr enLSevared LanyCarmCGom mgCaenn

D) yreafs

& 69 CCS4T/19
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186. Match the following elements with its Latin name :

(a) Lead . 1. Stibium
(b) Antimony 2. Plumbum
(¢ Tin 3. Kalium
(d) Potassium . 4. Stannum

() ® (© (G

@ 1 3 2 4
®) 1 2 3 4 ;
o 2 1 4 3
D) 4 1 2 3

ECy Qarésuul[Heter saflorismer Siger wgdan AuwisCearm(® Qs iiuGSse|b

@ Qoo : 1. evigGuid
(b) yemgioenf 2. embud
© e S il

(d) QumiLré&lwibd 4. CLabd

@ o). )

@A) 1 3 2 4
® 1 2 3 4
© 2 1 4 3

D) 4 1 2 3
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187. If the focal length of a concave lens is 2 m, then the power of the lens is
(A) 2 dioptre
(B) 1 _&ioptre
+ (C) 05 dioptre

\M —05 dioptre

2 15 @edlwg Qsrenevey 2 el w GYQeersler Hmer
@) 2@ wumi
B) 1eLwri
(C) OS5eLwri

D) -0.5eL wriLi

188. The maximum temperature in a city on 7 days of a certain week was 34.8°C, 38.5°C,
33.4°C, 34.7°C, 35.8°C, 32.8°C, 34.3°C. Find the mean temperature for the week

(A) 34.8°C
G 349°C
©) 34.7°C
D) 35.2°C

@ GOHUYGL L aungsdled parsden ofsul s Qeutiuhlenew 34.8°C, 38.5°C, 33.4°C, 34.7°C,
35.8°C, 32.8°C, 34.3°C <45 @mhss). Sibs aunysen sgnef Qeuliufloomws srems.

(A) 34.8°C
(B) 34.9°C
(C) 34.7°C
D) 35.2°C
& 71 - CCS4T/19 "
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189. A group of 100 candidates have their average height 163.8 cm with coefficient of
variation 3.2. What is the standard deviation of their heights?

&) 3.23
B) 491
S 524
(D) 6.38

em Gede 100 Guir o ereran, Sjauisafian e wykisaien sl Hésyref 163.8 Qs.5 wHmb

wrpum_(&6sw 3.2 aafld, SeursEpaw 2 wykisaflar S L ellosss5m586 STams.

A 3.23
B) 491
(© 524
(D) 6.38

190. The present ages of Reena and Usha are 24 years and 36 years respectively what
was the ratio between the ages of Usha and Reena, 8 years ago?

& 7:4 | ®) 6:5

(©)- 2:3 D) 4:7

ffewrm wHMID 2 agrellen FHCUTEMSWI ULIGEET penCuw 24 aumLkiseT HMID 36 eumHLhigeT
aafled 8 YUMOEEHEE WP 2 QT wimb faormeder auwgsefler eNfsb  eara@euns

BOHHGEED?
)T ' ®) 6:5
© 2:3 . Dy AT
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R R A
191.  Simplify 2E Tz ; 3_(4 x) 42

@ 72 B) 9%

)’

g (2‘l }2 x84 x472

2 2
(A) 73 B) 9=
S 5o 1
© 73 ® ok

192. The total surface area of cube is 384 m2. Find the side of thé cube

@ 5w O 8m

© 4m s . O ém

@ san& sgrSSlen Gongs euemerugii] 384 m? arafle) SiHeT LSS ereUGIETE]

@A) 38 ' B) 815

C) 4.8 ; _ D) 618

& 73 CCS4T/19
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193. Find the LCM of 3(a-1), 2(a-1f, (a*-1)

@ (e+1P{a+1) ®B) (a-1F (a+1)

© 6(a-1)(a+1) _ G 617 (@+1)

3(a-1), 2(a-1F, (a2 - 1)—6&1 B&flmy Quing) Lk smas. .

A) (a+1f(a+1) B) (a-1)(a+1)

©) 6(a-1)(a+1f ’ D) 6(a-17(a+1)

194. Find the cube root of 1%

5 3
@ ®

5 8
v 2 ® £
1%—@@uuq@m¢mm

5 3
S &)y

5 8
(Cr @)=
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195. The ratios of the respective heights and the respective radii of two cylinders are 1 : 2

and 2 : 1 respectively. Then their respective volumes are in the ratio.

(A 41 B) 1:4

@fgz | | D) 1:2

Qrem(® 2 (Henarsarte o wiykise apenGu 1 : 2 wHmib Seupder Bphser apGw 3.1

%ﬂw addlsmseafledimuder, Seunbler sar siereysaflar edlélgwd

A) 4:1 B) 1:4

€ 2:1 (D) 1e=2

196. At what rate of interest a sum of money doubles itself in 10 years in simple interest?

\yd' .10% B) 20%

(©) 50% D) 25%

@ Qsreoswuras sefaly @enuld 10 aBLsHed @Qriglurs s el e6isw
ereeneuns @) (&8 Gauar(BLD | .
A) 10% (B) 20%

©) 50% D) 25%

= e - T CCS4T/19
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197. In a Geometric progression t, = %; S —;~ . Then the common ratio is
AL
3

L), 2 D) 5

(A)

U | =

@@ QUBSES Gar ieuflasuie ¢, = % HMID 5 = %GI’GOﬂGb Qung e9dlgn TGS,

4

A) ®)

| =

(G 1 ®) 5

198. If @, =-1 then find a,, a¢; in anzh, n>1VneN.

n+2-

e -1 1
A - — B —,—
@) 4 20 ®) 4 20

dee il -1 -1
L w I L5
a, =-1 vppba, =—2-,n>1V ne N aaflld a,, a; srams.

1as -1 1

e Btk
@) 4’ 20 ®) 4 20

1 -1 0 ey |

L2 Ty
© 4 20 (D) 4 20
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199. If1+2+--+n=K then 1* + 2% +...+ n® is equal to

@4 K | : B) K*

@) Slsan @) (K+1f .

2

£

1+2+3+:-+n=K aafle 1° + 2% +...+ n® aranug

S r© | ® K

© K&+ ® (K1)

200. The common ratio of the G.P. a”™,a", a™" is

(A) a” B) a"

W _ M) a

a™™",a™, a™" erenm QUmESGS QT euflevsufer QLirg eldlgn

@A a” : B) a”

© o D) a™

CCS4T/19
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Question Booklet Code :AA.A Register

Number

~ 2019
GENERAL TAMIL WITH GENERAL STUDIES

Duration : Three Hours] [Total Marks : 300

Read the following instructions carefully before you begin to answer the questions.

10.

11.

12.
. 13.

14.

IMPORTANT INSTRUCTIONS

You will be supplied with this guestion booklet 15 minutes prior to the commencement of the examination.
This question booklet contains 200 questions. Before answering the questions, you are requested to check
whether all the questions are pri.nbed serially and ensure that there are no blank pages in the question
booklet. If any defect is-noticed in the question paper, it shall be reported to the invigilator
within the first 10 minutes and get it replaced with a complete question booklet. If the defect is
reported after the commencement of the examination, it will not be replaced.

Answer all the guestions. All the questions carry equal marks. - :

You must write your register number in the space provided on the top nght side of thls page. Do not
write anything else on the question booklet.

An answer sheet will be supplied to you separately by the 1nv1g31ator to mark the answers.

You shall encode your question booklet code in the space provided on page 2 of the answer sheet with
Blue or Black ink Ball point pen. If you do not encode properly or fail to encode the above information,
your answer sheet will be invalidated.

Each question comprises four responses : i.e (A), (B), (C) and (D). You have to select ONLY ONE correct
response and mark the same in your answer sheet. If you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
answer sheet.

In the answer sheet, there are four circles @, , © and @ against each question. To answer the
questions, you have to shade the circle of your choice (ONLY ONE) for each question with Blue or
Black in Ball point pen. For a particular question, if (B) is the correct answer, you have to mark your

answer as below;
| 0% NONG

. If you mark more than ore answer for a question, the answer will be treated as wrong.

You should not remove or tear off any sheet from this question booklet. Yon are not allowed to take this
question booklet and the answer sheet out of the examination hall during the time of examination.

After the examination. you must hand over vour answer sheet to the invigilator. You are allowed to

take the question booklet with you only after the examination is over.

You should not make any marking in the question booklet except in the sheet before the
last page of the question booklet which can be used for rough work. This should be strictly
adhered to.

For question Nos. 101 to 200, the English version is final.

You have to write and shade the total number of answer fields left blank on the boxes pmwded on
page 2 of the OMR answer sheet. An extra time cof 5 minutes will be provided for this purpose.

Pailure to comply with any of the above instructions will render you hable for such act:lon or penalty as
the Commission may decide at their discretion. :
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